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QUESTION 1

A Citrix Engineer needs to push Exchange ActiveSync credentials to the native iOS email client for mobile devices using
one policy for all users in an organization.

Which macro expression should the engineer use to automatically populate the users\\' email addresses?
A. {user.mail}

B. %user.mail%

C. {device.mail}

D. %device.mail%

Correct Answer: A

QUESTION 2

Scenario: A Citrix Engineer is enrolling iOS devices. After the certificate and profile installation, users are unable to
access the Worx Store.

What are two possible causes of this behavior? (Choose two.)

A. The maximum number of allowed users has been met.

B. The XenMobile Enterprise license does NOT exist.

C. The NetScaler Universal Access licenses do NOT exist.

D. The maximum number of devices for each user has been met.

Correct Answer: AC

QUESTION 3

Scenario: A customer plans to use XenMobile Server as the SAML Identity Provider for ShareFile authentication. SAML
authentication should be available for MDX users as well as through the desktop sync client for Windows and Mac. The
customer plans to use StorageZone Connectors.

What is the minimum configuration that a Citrix Engineer must perform in order to meet the needs of the customer?

A. Populate the XenMobile Server Settings > ShareFile tab

B. Populate the XenMobile Server Settings > ShareFile tab Create the appropriate NetScaler Gateway Session profile
and policy

C. Populate the XenMobile Server Settings > ShareFile tab Create the appropriate NetScaler Gateway Session profile
and policy Adjust the \\'login URL\\' settings on the ShareFile Control Plane

D. Populate the XenMobile Server Settings > ShareFile tab Create the appropriate NetScaler Gateway Session profile

1Y0-371 VCE Dumps | 1Y0-371 Study Guide | 1Y0-371 Braindumps 217


https://www.geekcert.com/1y0-371.html
https://www.geekcert.com/1y0-371.html
https://www.geekcert.com/1y0-371.html

VCE & PDF https://www.geekcert.com/1y0-371.html
2024 Latest geekcert 1Y0-371 PDF and VCE dumps Download

GeekCert.com

and policy Adjust the \Vlogin URL\\' settings on the ShareFile Control Plane Create a AAA vServer on NetScaler

Correct Answer: D

QUESTION 4

Which two components are required in order for a Citrix Engineer to use the MDX Toolkit to wrap Android applications
for production use? (Choose two.)

A. Command-line tools

B. Enterprise certificate from Symantec

C. Android Developer Tools and Android SDK
D. Android Just-in-Time Compiler

E. A keystore certificate

Correct Answer: CE

QUESTION 5

Which PowerShell command does a Citrix Engineer need to run in order to recover a StorageZone Controller
configuration backup?

A. Set-SfConfig
B. Get-SfConfig
C. Join-SfConfig
D. Configure-SfConfig

Correct Answer: A

QUESTION 6

Scenario: XenMobile has been selected as the new mobility solution for an organization. The organization currently has
a Citrix XenApp environment with remote access provided through NetScaler ICA Proxy. A Citrix Engineer needs to
redesign the email access solution for remote users and the organization requires that the new solution integrate with
the native iOS Mail.

Which component should be implemented to meet the requirements outlined in the scenario?

A. WorxMall

B. Secure Mobile Gateway

C. XenMobile Mail Manager
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D. XenMobile NetScaler Connector

Correct Answer: D

QUESTION 7

Scenario: Management has asked for all LDAP communication to be secured. A Citrix Engineer has modified the LDAP
server address to use the Fully Qualified Domain Name (FQDN) and has changed to the default secure port. After doing
so, the XenMobile Server cannot save the new settings and prompts with the error "Cannot connect. Try again.” Which
two things should the engineer verify to resolve this issue? (Choose two.)

A. That the firewall between the two servers is allowing traffic over port 636

B. That the firewall between the two servers is allowing traffic over port 389

C. That the server certificate of the domain controller has been added to the XenMobile Server

D. That the root certificate of the domain controller has been added to the XenMobile Server

Correct Answer:. AD

QUESTION 8

Scenario: User password caching must be disabled in an environment due to an information technology security policy.
The security policy also mandates the following:

Devices should NOT be allowed to be offline for more than 3 days.

Devices should recognize updates to applications in under 24 hours in the event of critical security updates.
-Users should conduct application upgrades within 3 days of a device recognizing the availability of an update.
Which combination of settings should a Citrix Engineer recommend to meet the requirements of the security policy?

A. AD password for authentication; maximum offline period of 24 hours; and app update grace period of 72 hours (3
days)

B. AD password for authentication; maximum offline period of 72 hours (3 days); and app update grace period of 72
hours (3 days)

C. Worx PIN for authentication; maximum offline period of 72 hours (3 days); and app update grace period of 24 hours
D. Worx PIN for authentication; maximum offline period of 24 hours; and app update grace period of 72 hours (3 days)

E. Worx PIN for authentication; maximum offline period of 72 hours (3 days); and app update grace period of 72 hours
(3 days)

Correct Answer: A
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QUESTION 9

After a successful iOS device enrollment through a NetScaler SSL Offload load balancer, the device was immediately
selectively wiped.

Which two scenarios could have caused this selective wipe? (Choose two.)

A. The Apple Push Notification service (APNSs) certificate has expired.

B. The port 8443 virtual server has the XenMobile Devices or Root certificate bound to it.
C. The port 443 virtual server has the XenMobile Devices or Root certificate bound to it.
D. The port 443 virtual server is re-encrypting back to the XenMobile Server over port 443.

Correct Answer: BD

QUESTION 10

A Citrix Engineer installed XenMobile Mail Manager and needs to ensure that ActiveSync clients are quarantined if they
are NOT enrolled in the XenMobile Server.

Which Default Rule should the engineer choose in this scenario?
A. Allow

B. Block

C. Unchanged

D. Quarantine

Correct Answer: C

QUESTION 11

Scenario: A Citrix Engineer is designing a XenMobile Enterprise solution to support approximately 30,000 device
connections. The environment must be able to sustain the failure of one node in a cluster at any given time for
redundancy and maintenance purposes. Each server\\'s specifications include four vCPUs and 16 GB of RAM.
What is the minimum number of XenMobile Servers that the engineer should recommend as part of this cluster?
A. Two

B. Three

C. Four

D. Five

Correct Answer: C
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QUESTION 12

Scenario: A company with 20,000 enrolled users recently acquired another company with 7,000 users. All new users
also will need access to mobile MDX apps. Each server\\'s specifications include four vCPUs and 16 GB of RAM.

What is the minimum amount of XenMobile cluster nodes required to support this environment?
A. One

B. Two

C. Three

D. Four

Correct Answer: C

QUESTION 13

What would cause a subset of iOS users in the same security group to NOT be provisioned to ShareFile?
A. Users have NOT logged on to Worx Home.

B. Users have NOT launched the ShareFile app.

C. The administrator has NOT provisioned the user from the User Management Tool.

D. The administrator has NOT enabled the user provisioning setting within the ShareFile settings.

Correct Answer: A

QUESTION 14

Which database type is recommended for the database connection when configuring a XenMobile Server for the first
time in a production deployment using the command-line interface?

A. MySQL

B. Microsoft SQL Server Express
C. PostgreSQL

D. Microsoft SQL Server

Correct Answer: A

QUESTION 15

Scenario: A Citrix Engineer needs to manage access to email from mobile devices and is in the process of migrating the
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ActiveSync Gateway to NetScaler. From the NetScaler, the engineer is using the wizard to configure Load Balancing
Microsoft Exchange Servers with Email Security Filtering.

The engineer will be required to enter an IP address for the , and . (Choose the
three correct options to complete the sentence.)

A. XenMobile Device Manager

B. Responder Callout address

C. XenMobile NetScaler Connector (XNC) IP Address

D. Exchange Client Access Server (CAS) Service Instances

E. Microsoft Threat Management Gateway (TMG) Service Instances

F. Load Balance Virtual Server for Exchange Client Access Server (CAS)

Correct Answer: CDF
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